1.

R&ETAL FHAR ASBE KA 02
ROMNCEA k. 7272 LA RHAABME L, BUIIC T 5 2 & (S5 108, Af2%y, B3y 258, C#55r)

1) 2=V3+V2,y=V3-V2DLE, (z—y)(x—3y) — (v —2y)* ZitFE L.

(2 z=14+V2,y=1-V2DLE, 25 +2%° oXoflizked k.
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2.

ROMNCE A L. = LoRHIEBLL, RNRBEBICTAZE. (SH15108, A2, B30 25%, C#H55)

(1) xz@,yz@@&?, (x4 9y)(z +y) — (x—3y)* ZFtFHEE L.

(20 z=3+V10,y=3-V10 DL E, 280 — 23> OXDfE%E KD k.
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1.

RETFAN FAR ASBEE KA 02 HBEESH
ROMNICEZ L. 2 UaRN3EEEL, BRI T2 8. (SH1 D108, A2, B35 258, C¥5%9)

(1) z2=vV3+V2,y=V3-V2DLE, (z—1y)(z—3y) — (z—2y)? Z3IHLEX.

5K = 2% — day + 3y% — (22 — 4oy + 49?)
=22 — day + 3y? — 2% + day — 4y?
= —y?
=~ (V3-v2)
=—(3-2V6+2)

=—542v6

(2 z2=14+V2,y=1-V2DLE, 20y* +2%° OXDfEizRKD k.

y=12-(V2) =1-2=-1Thb 305,
53 = 2? x aty 4 ¢y x 2%y
=22 x (zy)* + 92 x (xy)°®
=22 x (=1)*+ 942 x (-1)3
=22 —y?
=(z+y)(z —y)
={0+Vv2) + (1 =V {1 +v2) - (1-Vv2)}
=2x2V/2=4V2
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2.

ROMNCE A L. = LoRHIEBLL, RNRBEBICTAZE. (SH15108, A2, B30 25%, C#H55)

(1) xz@,yz@@k?, (x4 9y)(z +y) — (x—3y)* ZFtFHEE L.

5K = 22 + 102y + 9y — (22 — 62y + 9y?)
=22 + 102y + 9y? — 22 + 6y — 9y?

= 16zy

_ 16 x \/5;\/?? » \f;\/??

(2) 2=34+V10, y=3-V10 DL E, 28y5 — 23y®> DRDfitiz KD k.

ry=32— (V10)’ =9-10= -1 TH 255,
53X = 22 x 2890 — ¢? x 233
= 2% x (zy)° — y* x (zy)°
=22 x (=1)5 —y% x (-1)3
=22 42
— (3+v10)" + (3 - V10)
=94 6y10+10+9 — 64/10 + 10

=38
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